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ey alarmeaend sflures uflamd o sterer adTugeme sflumtsad
Qematenayd. Sdsiudals @opdlEilar, sweop semearadiiurentiib
o L emiqwrs:s Gatlalsseayb.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

ugdl - I gragaiumeuys, uGH - I adesdumeyd seallssed
allenL_ggrefle el weléseab.

Candidates should answer Part — I { Botany | & Part — IT { Zoology ) in
separate answer-books.

uGdl - I (sreurailwe) / PART - I ( BOTANY )
(el Custmiger : 75) / ( Marks : 75 )

Liifley - 2y /| SECTION - A

SymerSE allermieensmn alan welldasab.

i) sflurer el aws CaibCsdda (LS aD.

Answer all the questions.

ii} Choose and write the correct answer. 14 x1 =14

1.  emeuggreiiur embafsGluyr sreurddles smerorIUED WERET .. S4ED.

=) Camell&samiul e tuwms

o) Gareo aflevdlu susrrllumi® e Gloms

@) gbﬁdﬁ&.ﬁ. ElemasGarent emeGomsy

) ebeuats enabuoma.

.................... inflorescence is pfﬂsent in the plant of Withania somnifera.
a) Helicoid cyme b) Extra-axillary scorpioid cyme
¢} Solitary axillary cyme d) Umbellate cyme.
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2. Mdlarev sbyeflau sraumsdld sme@miuED S ..o wen.... STILILED.
<) Lepl =) Girsor
@) erige F)  mer eug eu Qi

The fruit present in Ricinus communis is known as
a) Drupe b) Regma
‘¢) Capsule d) Elongated fleshy berry.

3. Qms sGarfl sga Goparne 2 der @iyl Gurgperrs Guhe oifssrald

SUT(LPD e LweufSHS ek dlemeni,
3 SlGy e 21) &lemen £l
@) e #) eGurafllear.
Low calorie sweetener substance used by the people of West Africa is
a) Brazzein b)  Glycine
c¢) Serine d] Saponin.
4. dpderayb ehs urdefub pELapamea émwmm 2 ot mHEGSImEl 7
=) vl GlyiGLrempdlay eamns GrmeavEamiSluean
3)  &Crmumsedlub it Gudluedrau
@) Cudleeveav sifles dlusreleau
#)  eavCavfldur Carene.
Which one of the following bacteria causes Crowngall disease ?
a)  Streptomyces hygroscopicus
:
b}  Agrobacterium tumefaciens
c¢]  Bacillus fhuringiensis

d) Escherichia coli.

(4]
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5. @uen® yGyriGLr Semreupaansdlolr Gu @eanane o e méeh @)ememrey

ER=
) urel ergdlellen Slenendsme <) urelalevandy gGarreny(®
@) wurel r&Gaen Elamendsmd #)  ureuuflé msCse,

The two protoplasts are fused with a fusogen called
a) Polyethylene glycol b)  Polyvinyl chloride
¢)  Polyethane glycol d) Phosphoric ethane.

6.  walihs s SGPTL sansale oo Gal Haefld 2 ofeT SaneTHem .o,

Glumpeilesime oyam &aliuf el drmer,
=) Sl g e =) GaGeursn
@) sufler _ F)  ebldeotletr.

In mature sieve elements, the pores in the sieve plate are blocked by a substance

called
a) cutin k)  callose
¢) suberin d) lignin.

7. Geutsefle e fien Sm&CsTame Elanbée @BLUUTG 365 SBEHTED.
&) QuRlGL D =) UnsGsmén &HéeE
@) et HEE F)  @eellen Sl

The layer is morphologically homologous to the endodermis found in the root

which is
a) periderm b} epidermis
c¢)  starch sheath d) mesophyll tissue.
@ i . [ #ipliys / Turn over
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8 uopCsisams é{ﬂu@ e, ST DyETIPHS L HE DS,
<) Qasme 21} Slenlgmesr
@) Bl men &) By gres.
.................... is called the unit of recombination.
a) Recon b) Cistron
c] Muton d} Neutron.

9. OGasdfledr RNA-sefld .. Bleab  Hloaurarsid  brors  serenouyd
2SO LGTGLD.
=) 1§ RNA ' &) onGurGesris RNA
@) em..g@ RNA F) eyl RNA.
.................. is the most stable form of RNA of the cells.
a) Messenger RNA b} Ribosomal RNA
¢}  Transfer RNA d] Soluble RNA.

10. spCurosy ol 2 ws sramaiud CLUT GLESSLLD s GO WEHS

BEDL(LPED&ED UHSS ?

=) 1878

G 1968

=) 1978

) 18786,

From which year. the current system of International Code of Botanical

Nomenclature was adopted ?

a) 1878

c) 1968

[A]

b) 1978

d) 1976.

for nore visit http://school.tnpscquesti onpapers. con

L WWW. t npscquest i onpaper.s. com




http:

11,

12,

13.

14.

[A]

f or

/ ] school .t npscquest i onpapers. con

5 1038

ueGeun 2mii 1 GurGLesGem® eullGn GCurg ... sfiiGofsos
e padly et Gryg CQarLiau siflsors Garanfsierg.

B|) EOBLJme 9,) Glodafdwn

@) omhisest s F) @by,

Among wvarious nutrients ........... has a direct relationship with
photosynthesis.

a) Nitrogen ' b) Magnesium

c) Manganese d} Iron.

L#-Bl-mrl eren(u@D sreunsbles @\mGlembolLwt

=) Gle e BB G TLD @) gédled wirdibleren

@) owGorsr Qg Er B)  ysnellobuim @)eubrg sim.
The binomial nomenclature of the Touch-me-Not plant is

al Solanum nigrum bl  Aegle marmelos

¢) Mimosa pudica d)  Acalypha indica.
GuestGL ey urenGL auflds b Gdle wl ECw flahdlng

=) sl GLrderman 91) eowl GLmamedorcflwm
E)) GugrkedlGamin . F) USHS0I&D.

Pentose phosphate pathway takes place only in the

a) Cytoplasm b) Mitochondria

¢) Peroxisome d} Chloroplast.
Qlauterenen@ s auedt eredTn QIUILEDT cooveeerrirrenn, STESILCUT yBl(p&ULE GEleorTT.
=) G. GamurGevesor” 21) T.D. meGlaerGam

@) GG ETeUT F) 1 &EEETE.

The term 'vernalization’ was first introduced by
al (3. Haberlandt b} T.D. Lysenko

¢l Kurosawa : d) Dickens.

| dl@tiys [ Turn over
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16.

| 5"

18.

Jish

20,

21,

22

23.

24.

5

ey - 2 /| SECTION ~ B

Gy gGpean gap alarmss@nsg wl G el wellssayb.

Note :  Answer any seven guestions. T 3=21

Slenr G eresTmrey AT 7 gii o HATETID G .

What is cladode ? Give an example.

Ljso &uitem auiifl g &.nmuq@m Sy CuEHaMLESET UTae 7

What are the alkaloids found in Tobacco ?

BBy &dlsudlefleny Qe LLb suemyha LTSRS @

Draw and label Brachysclereids.

@levallen, g dl& -cuanmup). ikl &lrmuu@m. & & ehil ureal 7
Define mesophyll tissue. What are the tissues present in it ?
&L 55 RNA siemotifler uLb suarha urshser @il

Draw and label the structure of tRNA.

o STy Frenemwiurdsh ( Bio-remediation ) erefimimey ersiren 7
What is meant by bio-remediation ?

geflléaaunssdihed @me sanssdbed G Cuuysier Gamur@sear apedene
Foll)) .

State an.vy three differences between photorespiration and dark respiration.
Gureng i suenyuenn Glas.

Define bolting.

QuuentGLrey  urenGul. auflsaLsdlar wedlugatsala gCGagub cparbeamen
W | -

Write any three significances of pentose phosp.hatf: pathway.

2 BITLQUTmeT GlaneTenen @Iy eTabTar 2

What is meant by bio-piracy ?
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ey - @ / SECTION - C

@oliy . 1) glsaul prang olarssepés ool wslsaabh. alam aan 25-&E
' sy Luns el welss Gouam@ib.

ii) Gaemeuwrer G hseiles ULD euemTLaD.

Note : i) Answer any four questions including Question No. 25 which is
compulsory.

ii) Draw diagrams wherever necessary. : 4 x5 =20

GlamirBuliusdler gCGsaib papen (phdlusseibend e (g

Write any three importances of Herbarium.

qrEsnser ubdl Fnebliy eusnrs.

Write short notes on Tracheids.

safl Qlad Lysh aeipmes erciren 7 seoll Gled Ly asdles LusdTaemeansd @HIULIHS.
What is single cell protein ? Mention the uses of single cell protein.
Caeatmiadles sauranred gyleloean alarégs.

Explain the experiment of Ganong's respiroscope.
pafléGaibamsller gCsamib mhal weHlubgoubos apss.

Write any five signiﬂc-.anccs of photosynthesis.

gfetr Bleit wIHDD TBTHTE eTeTeT ? BB eumEEmen allaul.

What' is gene mutation ? Describe the types of gene mutation.

kb sIuSHen meanilfleast uphl Fln Bty susye.

Write short notes on microbes in medicine.
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iifley - & /| SECTION - D

Gpluy : 1)  gGsaub Grew® elomésense alloLwallssab.
i) Capemeuwuren G hsefles LD euemywayd.

Note : i) Answer any two questions.

ii) Draw diagrams wherever necessary. ' 2x10=20

32. dlyevr urmgedursralimer soasGarbasame allaufl. vafldr aaru b arhs

weufledT suTLtILTE DB .

Describe Musa paradisiaca in technical terms. Draw its floral diagram and write

the floral formula.

33. eumsugeri dlad Qergleaou alardgs.

Explain the vascular tissue system.

34. DNA upGsiéems puaiud updl g sl By asmys.

Write an essay on DNA recombinant technology.

35. dlemenasmallflen Blaspailen alemarsamear alleufl. ( susmyuLb SEveng allendsib )

Explain the reactions involved in Glycolysis. [ Flowchart or explanation )

- [A]
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ued - I ( aflewmdlué ) / PART - II ( ZOOLOGY )
( wallGluemmast : 75 ) / ( Marks : 75 )

fifley - &y / SECTION - A
@iy : 1) Syoerha alloirsseEpéeh allal wallésab.
i) aflurer alleneows CaibCls0Hs e wsab.

Note: - i) Answer all the questions.

ii) Choose and write the correct answer. 16 %1:= 16

1. weflsfle Gruileu @@nﬁ&@ (pseen s Slawus s Bihseut wrr 7

=) @ruil Gard =) Gorsl eblsvLiT
@) eumilleny Limeuigu F)  euGLetrell.
Whe initially developed the vaccine for rabies in man ?
al Robert Koch bl Joseph Lister
¢) Louis Pasteur d) Stanley.

2. Jdereumsuseupmiet LGITLGLrGameur gpi ievoremotiume 2 awoim@h GCrml egl 2
&) iifeeedr grbes aflurdl i) Wweoréy euril Sybemw
@) emenm F)  ieailurdlan,
Which one of the following is a protozoan disease ?
a) African sleeping sickness b) Measles
¢}  Cholera d) Taeniasis.

3. eeugen Gpreows sl QUUBSED dla Cews GQaranl Ceudlul Glur@msT sryel
=) Gl grens defler 3),) DL ebletr
@) @ rGlurmesr #)  yebihgiymenndle.
The more promising chemotherapeutic agent for treating viral disease is
a) Tetracycline b) Ampicillin

c¢) Interferon d) Anthramycin.

E _ [ l@ptiyg / Turn over
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4. Blewodi opg &8ld ﬁmm@mmm@gjﬁﬁ 6lihe LGS angoey srihe Ll 7
=) STl Lugd urailadler &) Glio@eer
@) 2 e mEmpHELE6 F)  umgr srrOL e Lgd.
Which one of the following is the thymie dependent area in lymph node 7
a) Cortical follicles b)  Medulla
c¢) Inlet duct d) Paracortical area.
5. it sidsayamus saoflu @)s o Bas dobs paop
=) eremCLmau@aird
é;,j Glogvehlu LI &Cymoc GLrdlymd
@) erevdl Grmamig Gur sy
#)  GurGuondgmdil.
Which is considered a superior method for identification of urine sugars ?
a) Endoscopy
b}  Thin layer chromatography
¢) Electrocardiogram
d) Tonmgraphy.

6. samaurby BELeT OCadeb sebs Garhous aECprissno pwes 2 me

#Fdhldems 7
=)  alippiCurse S ) Wmeud &l e
@) ure sriésd F)  epemhdlrm e,

Feeding jaggery along with lime water is one of the first aid measure for
a)l  Diarrhoea b) Constipation

c) Milk fever dl  Anthrax
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7. s@masss erilyselon G\astd fls sa Blehs B aaos snelubdins.

2) ST SLewr =) Cevdlur Cadl im

@) Sliangeon Wi smer W) FeTenT WOgheiey.

Of all the carps, which is considered as the tastiest fish ?

al Catla catla )  Labeo rohita

¢} Cirrhina mrigala dl  Channa marulius.
8. gl @upwn Coburlighe &iyedael

=) Hleft wrbmhiser |

) 2 L[DUEHTL D Hmed eT

@) GGrrlerGsnbaetldar Ganmey

7)  emgl Gunllenren sydlefliy.

The factor that enriches the gene pool with new modified genes is

a) mutation

b} somatic variation

c] decrease in chromosomes

d) increase in cytoplasm.
9. @ew Gussnseia @méwr Glaiyb gefloks e

S)  GlumiL rdlueapn &wéﬂﬂw@m

) Bemguapd QT rdluapb

@ @Genmflauh Gemguph

7)  =Bumgepib @Garmifleb.

Minerals that are essential for cardiac function are

a) . Potassium and Calcium

bl Sedium and P.c.ltassium

¢)  Chlorine and Sodium

d} lodine and Chlorine.

Eﬂ] i [ Smriys [ Turn over
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10. d‘ls&rfauq&m{mﬁum@jaﬁ ag uflurs e Lhi Curdrp ;s Cmanse odlyre Gamasmpis
Grmil sPHLUTHDS Geopur® 7

) USHAITSD - ) &raGnmil
@) GGreigs apl Heusd - #)  wégudler sudleN@rmdlah,

Which one of the following diseases is caused due to immunological disorder
against an unknown antigen ?

al] Sitroke b)  Tuberculosis
c¢)] Rheumatic arthritis d)  Multiple sclerosis.

11. sevamel & @phgh Gurg .90 ( ATP ) apevdsaniest @) aemub @)L

<) sowGurdler @eanp =) ewBuresulifléisen

8) BdL e ) 06 Gempae.

During the contraction of muscles, th{:r ATP molecules bind with the active site of
a)  Myosin filament b}  Myofibrils

¢}  Nerve endings d)  Actin filaments.

12. syiallomgar s#ppflle néal Qurmemrer 2bCuoreafluranea @Er_r;, wiflur ppevksaprs
wrhp Gaameauliu@b ATP epeudsansefsn o o alsem s

D)) BIEE 2) Erem{

@) apemy F) el

In ornithine cycle, number of ATP molecules spent to convert toxic ammonia to a
molecular urea is

a) four b} two
c) three ; d)  one.
13, eremeu BLM (D LYY Gumker seruu@Hog 7
) Ulermsudll sen 21) oLl
@) Lt e miy F) et eno B & ebi & 6T .
What is the name for mobile geﬁetic elements ?
a) Plasmids b) Pili
c}  Barr body d) Transposons,
for nore visit http://school.tnpscquesti onpapers. con
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14, Gy Cuinbléedies yyshsener wylicughe Caaseila samer 2y lsy blsLdinriass ?

2) &L .eTeh . S TR TH - T 0 = U
@) e .2y T 6T 60l 5 W) 9. .eTehT g .
- In proteomics, which one is probed to identify the proteins of cells ?
5 a) (RNA b) rRNA
¢} mRNA | . d) DNA.
15. eGames @H;:L‘Jq (PEET  PBEDIEN oo LG Coen e G G rauiilwim

Ugdldler seimGUlgdstul g,
3|) TGS O T 1o (B}
@) eodiflesn F) el Grreiur,

Ozone loss was first detected in the stratosphere over the

a) Arctic L)  Antarclic
c) Africa d) Australia.
£ 16. eeiGaur®m aumaph Gfluall Bphel YOIEE ... SiDDE flemddlpa.
=) 15x100%° fiGar &Geurf] 3L) 10x10°? £Ger s8erf)
@) 5x 1029 Qe &Beumifl ) 15x10%? dGeur &Gaurl.

The amount of energy the earth receives from the sun per year is
a)  15x100%° k.cals by 10x10%9 k.cals
c) 5x10%Y k.cals d) 15x10%° k.cals.

[A] | &meis [ Turn over

for nore visit http://school.tnpscquestionpapers.con
. WWW. t npscguesti onpapers. com



http://school .tnpscquesti onpapers. con

1088 ! ' 14
Uifley - 2 / SECTION - B

@iy : aomaCuaid al@ eflerasesée bl G allem L wetl&a ey,

Note :  Answer any eighi questions. Bx3=24

17. @|sw-Hesmuyd G‘I&Léug;;rm‘tm_s‘u &7 EBTDITEY eTedTemT 7
What is cardiopulmonary resuscitation ?
18. wuyGusL b erebrpmey eredres 7
What is tubectomy ?
19. worereuL &a et 5Tsé“r'r_r}rrra'u aTetTen!
What is transduction ?
20, syevoiqumgseilan fpetny Lallsamard snm).
What are the three main functions of antibodies ?
21. seomanueinddlen ereTmmes ereent 7
What is mz_lphy]axis ?
22. welle gfGeannmid $lI L b ereiTpmes oretrent 7
What is human genome project | HﬁI‘ ) ?
23. WIMIUTL 6L Hel eTeTmTe) sTeslen *
What is differentiation ?
24. 2 0 geeusiive ghul aflaisss opflalue. & e Hilg e wranea 2

What are the scientific inventions that helped in paving way for origin of

bioinformatics 7
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27

28,

29.

30.

31.

D,

33,

[A]

15 : 1038

a1l LEI@EHE‘IE enowE et Ley|Ger Gaenh @) etong enen e He.
Write any tiwo characteristics of a bioreserve.

2wé Gle wriealle gGaab apardlar GLTsmer eTapgl.

Write the names of any three exotic breeds of cattle.

Glawhama albam b aeaTnTe aear 2

What is artificial insemination ?

GEyrCurGenn usTemnllart Csmeampeusnasren &,n[ymrﬁ:&a‘maﬁ &T (L&,

Write the reasons for the formation of polysomics.

sy - @ | SECTION - C

@iy : gGaah eperpy ellarrda@nde el wefl, @mi@;sﬁ afleoim erevor 31-5

setong LTS ellent_welga e Geauetor Hib.

Note : Answer any three questions including Question No. 31 which is
compulsory. ib="15

‘Gr&HsD i Satalloa DPhE Hame’ - 2@ HHeDES HbH.

“Sleep is a state of unconsciousness.” Substantiate the statement.
arilic_ sy (Egg.rruu. sHOUD &L ELLESsSeID LDBlL GOl angs.

Write a note on control and prcvcﬁtive measures of AIDS.
OOy allessedlda opflghes wrae ?

What are the symptoms of graft rejection ?

wiyL roniu’ L elledigaellen UL wTanal 7

What are the uses of transgenic animals 7

é‘l&'u.ra‘u sl eflemerey Lbbl eﬂmrﬂ.

Briefly describe Sewall-Wright effect.

[ imlys f Turn over
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difley - 7 /| SECTION - D

GOy : ermaubuan Greau® elamssenée bl Gk allenLwsfl.

Note : Answer any two questions. ; 2x10=20

34. fpeLdla pe Gluph Cleflasa Blabaysamen allendaayb.

Explain the digestive processes taking place in the small intestine.
35. wraaimi &phflllenea afleuflésayb.

Write an essay on menstrual cycle.

36. 2 ewsamaly Gleutus wiallemd ghufd alomaasamanyd Sass SUHULESED

apuhélsenemun adleur].
List out the e_ﬁ‘eéts of global warming and efforts to control global warming.
37. éul&Cuor wramd Li Qewshu@d e whnb vwersaetl LDl alflars aupgs.

Describe the working method and uses of sphygmomanometer.

(4]

for nore visit http://school.tnpscquestionpapers.con
— \AAAAAZ T anr‘ql-"mei onpapers.com X






